TH6FE

EEHRIGEBREFEETE (D 2)
mEZE
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LSEL - ZEEREHRR
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iR B A SERESE TEE 0
% # s - BRHE s E i & & W E

EEIEE 69, 544, 762
MEIEE 13,957,015 + 20, 608, 238 34, 565, 253
HBEREE (GD 6,265,365 + 7,177,019 + 514,631 13,957,015
HBRFE (BE) 6, 265, 365
HERZE ((F) 69,544,762 x 10.32% ((5.13% x1.68 +1.50% x 1.02) 7,177,019
BERERER 69,544,762 x 0.74% 514, 631
BisEER 83,501,777 x 24.68% ((22.80% +1.16%) x 1.03) 20, 608, 238
TER{ 69,544,762 + 34,565, 253 104,110,015
—REEEE 104,110,015 x 17.01% (17.01% x 1.00) — 772 17,708, 341
R RIEE 104,110,015 x 0.04% 41,644
T4 104,110,015 + 17,708, 341 + 41, 644 121, 860, 000
HEGEHRLE 121,860,000 x 10.00% 12, 186, 000
FEIZRE 121,860,000 + 12,186, 000 134, 046, 000




BERNRE BEAESBEEETEEZD2)

& [ & - RTE B #H = B € # W E

BEEIEE 69, 544, 762
B (—10m) 69, 544, 762
HEBT 52,225, 553
ERERT 52,225, 553
iR 41,109, 755
1 EEEA(EE) 5,101. 00 7, 465 38,078, 965

m3
2 BEEAGER) 406. 00 7, 465 3,030, 790

m3
BERHL 11,115, 798
3 ¥ARMBL Oke) 1, 686.00 6,593 11,115,798

m2
HE - BET 17,319, 209
HERL 17, 319, 209
BER 7,969, 647
4 HEREA (RRT) 577.00 10, 681 6,162, 937

m3
5 HBEREAANIR) 185. 00 9,766 1,806, 710

m3
WEHL 9, 349, 562
6 WHEHL (Okd) 1,082.00 8, 641 9, 349, 562

m2




BEARE

RBEABBBREETIE(ZDN)

% [ BA& - AR B g fiti £ i) " =
HERHZE EL) 6, 265, 365
HERHZE 6, 265, 365
B ] 6, 265, 365
£ 420, 240
1 fTIFEBR 1.00 420, 240 420, 240
=
TEE 5,845,125
8 REERM 1.00 5,845,125 5,845,125
=
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BEABGEBREETIE(ZFN2)

&5 1
&% BAERA(ERE) 1000m 3 & 1)
4 b R - KT & BAGL H = B {f %5 = 5 &
¥ 7 10~200kg/{&
m 3 1, 300. 00 5, 500. 00 7, 150, 000
Bkt D 270PSE! 3~5tA
B 1.38 202, 067.00 278,852 8H
MM A EXZDY)
% 0.50 7,428, 852. 00 37,144
& R YEZ8EH - 1,000.00m 3 7, 465. 00 7,465, 996
&5 .2
&% BAEERAGER) 1000m 3 %Y
b R - BKkTiE BAGL H = B {f £ = 5 &
& 5 10~200ke /1@
m3 1, 300. 00 5, 500. 00 7,150, 000
Bkt D 270PS%E! 3~5t/H
=] 1.38 202, 067. 00 278, 852 8H
A H £ERD%
% 0.50 7,428, 852. 00 37,144
& B YEZ%8EH - 1,000.00m 3 7, 465. 00 7,465, 996
&5 :3
&% BAERHL Okd) 1B%Y (30.8m2)
% E R - BRTE BARL #H =2 B %8 £ i &
Bkt D 270PSE! 3~5t/H
=] 1.00 202, 067. 00 202,067 8H
A H EXOY
% 0.50 202, 067.00 1,010
& B YEZ%8EH : 30.80m 2 6, 593. 00 203,077




Rt R - T/ \wr—o

BEABGEBREETIE(ZFN2)

&5 4
2 HEBEBREA(RAR) 1000m 3 &Y
2 L R - K& By H = B & %8 = 5 &
WER RKA. 1,000kg~ /&
m3 1, 300. 00 7,700. 00 10,010, 000
Bkt D 270PS%E! 3~5t/H
=] 3.06 202, 067. 00 618, 325/8H
MR £ERD%
% 0.50 10, 628, 325. 00 53, 141
& B YEZ%8EH - 1,000.00m 3 10, 681. 00 10, 681, 466
&8 :5
2 WEABRAANIR) 1000m 3 %Y
% E R - kTiE B H = B & el = i &
WER AIA. 1,000kg~ /&
m 3 1, 300. 00 7,000. 00 9,100, 000
Bkt D 270PSE! 3~5tA
=] 3.06 202, 067. 00 618, 325/8H
MM £HRD%
% 0.50 9,718, 325. 00 48, 591
& R YEZ8EH - 1,000.00m 3 9,766. 00 9,766,916
E5:6
2% HmEBEHL OKH) 1TAHY (23.5m2)
2 L R - K& By H = B & %8 = 5 &
Bkt D 270PSE! 3~5tA
=] 1.00 202, 067. 00 202,067 8H
MM £HD%
% 0.50 202, 067.00 1,010
& R YEZEREH : 23.50m 2 8, 641.00 203,077




BEABGEBREETIE(ZFN2)

RiER-EI/ \vr—>
&5 :1
B KTiIFAERBER =10
4 b g - BRKTE BAGL H = B {f £ IS 5 &
ITiZEHRE JL—rkE
& 2.00 210, 120. 00 420, 240
& it YEZEEH - 1. 00K 420, 240. 00 420, 240
&5 :8
& REESRMR 1KLY
% E R - BRTE B #H =2 B € & = i &
ZEERRK FRP D 180PSZ!
B 61.00 95, 345. 00 5,816,045/6.00H / 8H
MM EXZDY)
% 0.50 5,816, 045. 00 29, 080
& R fEEEEH - 1.00K 5,845,125.00 5,845,125




=R E Bl A IS B2 S TE(Z02)

HiiRES 1
BHFRAF : BAKLH D 270PSE! 3~5t/H 1H&HY 8H
£ g g - BRI BAGL #H = B @ & # W E w5 &
Bl R
L 129. 00 87.10 11,235
Bk EE®R
A 0.24 46, 700. 00 11,208 B=1.20
BKE
A 1.20 46, 700. 00 56,040 B =1.20
BKERKE
A 1.20 34,010.00 40,812/ 3=1.20
BKERE
A 1.20 32, 760. 00 39,312 f=1.20
BH GEKEHm) D 270PSE! 3~5t/A
B 1.00 13, 100. 00 13,100 EERH
BHE B D 270PSE! 3~5tF
=] 1.65 18, 400. 00 30,360 ar=1.65 i3 =]
& Hi 202, 067
HBiiRES : 2
HifiRa . KLEMRM FRP D 180PSEY 1H#%Y 6.00H / 8H
£ L g - BRTE BAGL #H = B @ ® # W OE w5 &
EHA
L 37.00 102. 20 3,781
EiMmE
A 1.20 30, 160. 00 36,192 f=1.20
LEME
A 1.20 24, 750. 00 29,700 3=1.20
B (@M [FRPE]) D 180PSE! 10.0GT
=] 1.00 9,420. 00 9,420 e T =|
#EH (@M [FRPR]) D 180PSE! 10.0GT
B 1.65 9, 850. 00 16, 252 | o =1. 65 #“RAA
& it 95, 345




